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Instructions / સૂચના
Candidate must ensure compliance to the instructions mentioned below, else objections 
shall not be considered: - 
(1) All the suggestion should be submitted in prescribed format of suggestion sheet Physically. 
(2) Question wise suggestion to be submitted in the prescribed format (Suggestion Sheet) 

published on the website. 
(3) All suggestions are to be submitted with reference to the Master Question Paper with 

provisional answer key (Master Question Paper), published herewith on the website. 
Objections should be sent referring to the Question, Question No. & options of the Master 
Question Paper.  

(4) Suggestions regarding question nos. and options other than provisional answer key (Master 
Question Paper) shall not be considered. 

(5) Objections and answers suggested by the candidate should be in compliance with the 
responses given by him in his answer sheet. Objections shall not be considered, in case, if 
responses given in the answer sheet /response sheet and submitted suggestions are differed. 

(6) Objection for each question shall be made on separate sheet. Objection for more than one 
question in single sheet shall not be considered & treated as cancelled. 

ઉમેદવાર ેનીચેની સૂચનાઓનંુ પાલન કરવાની તકેદારી રાખવી, અլયથા વાંધા-સૂચન અંગ ેકરલે રજૂઆતો իયાને
લેવાશે નહી ં
(1) ઉમેદવાર ેવાધંા-સચૂનો િનયત કરવામા ંઆવેલ વાંધા-સૂચન પԋકથી રજૂ કરવાના રહેશે. 
(2) ઉમેદવાર ેԐՇԐમાણે વાધંા-સચૂનો રજૂ કરવા વેબસાઈટ પર Ԑિસիધ થયેલ િનયત વાંધા-સૂચન પԋકના નમૂનાનો જ

ઉપયોગ કરવો.
(3) ઉમેદવાર ેપોતાન ેપરીԟામા ંમળેલ ԐՇપુિչતકામા ંછપાયેલ ԐՇԃમાંક મુજબ વાંધા-સૂચનો રજૂ ન કરતા તમામ વાંધા-

સૂચનો વેબસાઈટ પર Ԑિસիધ થયેલ Ԑોિવઝનલ આլસર કી (માչટર ԐՇપԋ)ના ԐՇ ԃમાંક મુજબ અન ેતે સંદભӪમાં
રજૂ કરવા. 

(4) માչટર ԐՇપԋ મા ંિનિદӪ Ջ ԐՇ અને િવકճપ િસવાયના વાંધા-સચૂન իયાન ેલેવામાં આવશ ેનહી.ં 
(5) ઉમેદવાર ેજ ેԐՇના િવકճપ પર વાંધો રજૂ કરલે છે અન ેિવકճપ ԁપ ેજ ેજવાબ સચૂવેલ છે એ જવાબ ઉમેદવાર ેપોતાની

ઉԱરવહીમા ંઆપેલ હોવો જોઈએ. ઉમેદવાર ેસચૂવેલ જવાબ અને ઉԱરવહીનો જવાબ િભՂ હશ ેતો ઉમેદવાર ેરજૂ
કરલે વાંધા-સચૂન իયાનમા ંલેવાશ ેનહી.ં 

(6) એક ԐՇ માટે એક જ વાંધા-સૂચન પԋક વાપરવું. એક જ વાંધા-સૂચન પԋકમા ંએકથી વધાર ેԐՇોની રજૂઆત કરલે
હશે તો ત ેઅંગેના વાધંા-સચૂનો իયાન ેલેવાશ ેનહી.ં 
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001. Lke[uLkk ðkõÞku Ãkife fÞk ðkõÞku ÞkuøÞ Au ?

(1)  ¼qøkŠ¼f çk¤kuLku ÷eÄu çku ¼qr{Míkhku Ãkh ¾U[ký çk¤ ÷køku Au íÞkhu íku{kt ríkhkz Ãkzu Au. su ¼køk çkuMke òÞ Au íÞkt
Vkx¾eý h[kÞ Au yLku ÂMÚkh ¼køk ¾tz Ãkðoík (Block Mountain) çkLku Au, Ëk.ík. rLk÷økehe, MkkíkÃkwzk.

(2)  ßðk¤k{w¾e Vkxíkk «MVkuxLkÚke çknkh VUfkíkk ÃkËkÚkkuo þtfw ykfkhu s{k ÚkkÞ Au yLku ßðk¤k Ãkðoík (Volcanic
Mountain) çkLku Au, Ëk.ík. ÃkkðkøkZ, røkhLkkhLkk Ãkðoíkku.

(A) {kºk 1 ðkõÞ ÞkuøÞ Au. (B) {kºk 2 ðkõÞ ÞkuøÞ Au.

(C) 1 yLku 2 çktLku ðkõÞku ÞkuøÞ Au. (D) 1 yLku 2 çktLku ðkõÞku ÞkuøÞ LkÚke.

002. Lke[uLkk Ãkife fÞk ðkõÞku ÞkuøÞ LkÚke ?

(A) ¼qr{Lkku ÷tçkkí{f Auzku su s¤¼køk{kt Vu÷kÞu÷ Au íkuLku ¼qrþh fnu Au. Ëk.ík. fLÞkfw{khe

(B) ¼qr{¼køk su [khu íkhV ÃkkýeÚke ½uhkÞu÷ Au íkuLku xkÃkw fnu Au. Ëk.ík. þt¾kuîkh

(C) çku s¤rðMíkkhkuLku òuzíke Mkktfze s¤ÃkèeLku Mk{wÿÄwLke fnu Au.

(D) çku s¤rðMíkkhkuLku y÷øk fhíke ¼qr{ÃkèeLku y¾kík fnu Au.
003. ¼khík{kt Lkfþkyku çkLkkðíke Lke[uLkk Ãkife fE MktMÚkkyku Au ?

(1)  LkuþLk÷ yux÷kMk rÚk{urxf {uÃk ykuøkuoLkkEÍuþLk (NATMO)

(2)  LkuþLk÷ rh{kux Mku®LMkøk yusLMke (NRSA)

(3)  Mkðuo ykìV EÂLzÞk

(4)  yux÷kMk MkxeoVefuþLk yusLMke (ACA)

(A) 1, 2 yLku 3 (B) 1, 2 yLku 4

(C) 1, 3 yLku 4 (D) 1, 2, 3 yLku 4

004. s{eLkLke MkÃkkxeLku æÞkLk{kt ÷uíkk ¼khíkLku fux÷k ¼køk{kt ðnU[e þfkÞ Au ?

(A) ºký (Three) (B) [kh (Four)

(C) Ãkkt[ (Five) (D) A (Six)

005. Lke[u sýkðu÷ hk»xÙeÞ WãkLk hkßÞ yLku «kýeykuLke òuze Ãkife fE òuzeyku ÞkuøÞ Au ?

(1)  fkÍehtøkk – ykMkk{ – økUzk
(2)  fkLnk – W¥kh«Ëuþ – ðk½, Mkkçkh

(3)  ðu¤kðËh – økwshkík – fkr¤Þkh, ¾z{kuh

(4)  çkktËeÃkwh – W¥khk¾tz – ðk½, ËeÃkzk

(A) 1 yLku 2 (B) 1 yLku 3

(C) 1 yLku 4 (D) 1, 2, 3 yLku 4

006. økwshkík hkßÞ{kt yLku ¼khík{kt þnuhe rðMíkkh yLku økúkBÞ rðMíkkh{kt ðMíkeLke xfkðkhe fux÷e Au ?

(A) 42.6 yLku 57.4 økwshkík hkßÞ,  31.1 yLku 68.9 ¼khík

(B) 57.4 yLku 42.6 økwshkík hkßÞ,  31.1 yLku 68.9 ¼khík

(C) 57.4 yLku 42.6 økwshkík hkßÞ,  68.9 yLku 31.1 ¼khík

(D) 42.6 yLku 57.4 økwshkík hkßÞ,  68.9 yLku 31.1 ¼khík

007. økwshkík hkßÞ{kt fÞk SÕ÷kyku{kt MkkiÚke ðÄkhu yLku MkkiÚke ykuAku MkuõMk huþeÞku (100 ÃkwY»kkuLke Mkh¾k{ýe{kt MºkeykuLke
MktÏÞk) Au ? (2011 Lkk MkuLMkMk {wsçk)

(A) zktøk yLku {nuMkkýk (B) íkkÃke yLku Mkwhík
(C) LkðMkkhe yLku çkLkkMkfktXk (D) fåA yLku ¼kðLkøkh

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight



AQC - GS - MASTER  ] 2 [ Contd.

008. þnuh, LkËe yLku MktçktrÄík hkßÞLke òuzeyku Ãkife fE òuze ÞkuøÞ LkÚke ?
(A) økkin¥ke – çkúñÃkwºkk – ykMkk{ (B) Mkwhík – íkkÃke – økwshkík
(C) øðk÷eÞh – Lk{oËk – {æÞ«Ëuþ (D) fxf – {nkLkËe – ykuzeMkk

009. hkßÞ / Mkt½hkßÞ yLku íkuLke hksÄkLkeLke òuzeyku
(1)  ÷ûkîeÃk (a)  ÷un
(2)  ÷Æk¾ (b)  RxkLkøkh
(3)  yYýk[÷ «Ëuþ (c)  $Vk÷
(4)  {rýÃkwh (d)  fðkh¥ke
(A) 1 - c,  2 - d,  3 - a,  4 - b (B) 1 - b,  2 - c,  3 - d,  4 - a
(C) 1 - d,  2 - a,  3 - b,  4 - c (D) 1 - a,  2 - b,  3 - c,  4 - d

010. hkßÞ yLku hkßÞ ÃkþwLke òuzeyku Ãkife fE òuze ÞkuøÞ LkÚke ? (State and State animal)

(A) yYýk[÷ «Ëuþ  –  r{ÚkwLk (Bos Frontails)

(B) ykMkk{  –  yuf ®þøkzw Ähkðíkku økUzku (Indian one horn Rhino)

(C) økwshkík  –  økeh-økkÞ
(D) A¥keMkøkZ  –  støk÷e ¼UMk (Wild buffalo)

011. Lke[uLkk Ãkife fE ftÃkLkeykuLkku Mk{kðuþ “{nkhíLk ftÃkLke”Lke ÞkËe{kt ÚkkÞ Au ?
(1)  ¼khík nuðe E÷uõxÙef÷ ÷e{exuz (BHEL)

(2)  ¼khík ÃkuxÙku÷eÞ{ fkuÃkkuohuþLk ÷e{exuz (BPCL)

(3)  rnLËwMíkkLk yuhkuLkkuxeõMk ÷e{exuz (HAL)

(4)  þeÃkªøk fkuÃkkuohuþLk ykìV EÂLzÞk (SCI)

(A) 1, 2, 3 yLku 4 (B) 1 yLku 2
(C) 1, 2 yLku 3 (D) 1, 3 yLku 4

012. Lke[uLkk ðkõÞku íkÃkkMkku.
(1)  ¼e{ çkuxfk ({æÞ«Ëuþ), ykrË{kLkðLkk ðMkðkx {kxuLkwt W¥k{ MÚk¤ {kLkðk{kt ykðu Au. íku{kt ÷øk¼øk 500 sux÷k

r[ºkku {¤e ykðu÷ Au.
(2)  økwshkík{kt nzÃÃkeÞ MkÇÞíkkLkk MÚk¤ku{kt htøkÃkwh, ÷kuÚk÷, ©eLkkÚkøkZ, Ëuþ÷Ãkh, Mkwhfkuxzk, Äku¤kðehk suðk MÚk¤kuLkku

Mk{kðuþ ÚkkÞ Au.
(A) {kºk 1 ðkõÞ ÞkuøÞ Au. (B) {kºk 2 ðkõÞ ÞkuøÞ Au.
(C) 1 yLku 2 çktLku ðkõÞku ÞkuøÞ LkÚke. (D) 1 yLku 2 çktLku ðkõÞku ÞkuøÞ Au.

013. økwshkíkLkk MkktMf]ríkf MÚkkLkku yLku MÚk¤kuLku ÞkuøÞ heíku økkuXðku.
(1)  ðzLkøkh (a)  Mk{úkx yþkufLkku rþ÷k÷u¾
(2)  swLkkøkZ (b)  feŠík íkkuhý
(3)  rMkØÃkwh (c)  ÃkkhMke yrøkÞkhe
(4)  LkðMkkhe (d)  Yÿ{nk÷
(A) 1 - a,  2 - d,  3 - c,  4 - b (B) 1 - d,  2 - c,  3 - b,  4 - a
(C) 1 - b,  2 - a,  3 - d,  4 - c (D) 1 - c,  2 - b,  3 - a,  4 - d

014. økwshkík «ðkMkLk MÚk¤ku yLku SÕ÷kykuLke òuzeyku Ãkife fE òuze ÞkuøÞ LkÚke ?
(A) Ãkku¤kuLkk støk÷ku – MkkçkhfktXk (B) íkkLkk-hehe {nkuíMkð – {nuMkkýk
(C) hýkuíMkð – fåA (D) çkzo VuMxeð÷ – ¼kðLkøkh
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015. økwshkíkLkk ¼kíkeøk¤ {u¤kyku yLku íkuLkk MÚk¤ku Ãkife fE òuzeyku ÞkuøÞ Au ?

(1)  fkr¤Þk XkfkuhSLkku {u¤ku  –  ¾uzk

(2)  ¼ðLkkÚkLkku {u¤ku  –  sqLkkøkZ

(3)  Lkf¤tøkLkku {u¤ku  –  ¼kðLkøkh

(4)  økku¤ økÄuzkLkku {u¤ku  –  fåA

(A) 1 yLku 2 (B) 1 yLku 3

(C) 1 yLku 4 (D) 2 yLku 3

016. ¼khíkLkk Lk]íÞku yLku íkuLkk MktçktÄeík hkßÞkuLke òuzeyku Ãkife fE òuze ÞkuøÞ LkÚke ?

(A) ¼hík Lkkxâ{T  –  íkkr{÷Lkkzw (B) fq[eÃkwze Lk]íÞþi÷e  –  fýkoxf

(C) fÚkf÷e Lk]íÞþi÷e  –  fuh÷k (D) {uhkÞku Lk]íÞ  –  økwshkík

017. ¼khíkLkk {nkLk ÃkwMíkfku yLku íkuLke ¼k»kkLkk òuzfk Ãkife fE òuze ÞkuøÞ LkÚke ?

 ÃkwMíkf      ¼k»kk

(A) yükæÞkÞe – MktMf]ík ¼k»kk

(B) þe÷ÃÃkríkfkh{T – íkr{÷ ¼k»kk

(C) [tÿkÞLk – yðÄe ¼k»kk

(D) ykÞLku yfçkhe – WËqo ¼k»kk

018. rð¿kkLk ykÄkrhík þkMºkku yLku fíkkoykuLku ÞkuøÞ heíku òuzku.

(1)  r[rfíMkkþkMºk (a)  {nk{wrLk Ãkkhkþh

(2)  ð]ûk ykÞwðuoË (b)  [¢ÃkkrýË¥k

(3)  Þtºk þkMºk (c)  þf{wrLk

(4)  fk÷økýLkk þkMºk (d)  {nŠ»k ¼khîks
(A) 1 - b,  2 - a,  3 - d,  4 - c (B) 1 - a,  2 - d,  3 - c,  4 - b
(C) 1 - d,  2 - c,  3 - b,  4 - a (D) 1 - c,  2 - b,  3 - a,  4 - d

019. ¼khíkLke «k[eLk MÚkkÃkíÞku yLku íkuLkk rðMíkkh ytøkuLke òuzeyku Ãkife fE òuzeyku ÞkuøÞ LkÚke ?

(1)  yur÷VLxkLke økwVkyku  –  {æÞ«Ëuþ

(2)  {nkçk÷eÃkwh{T  –  íkkr{÷Lkkzw

(3)  ÃkèËf÷  –  fýkoxf

(4)  nw{kÞwLkku {fçkhku  –  W¥kh«Ëuþ

(A) 1 yLku 2 (B) 1 yLku 4

(C) 1 yLku 3 (D) 1, 2 yLku 3

020. ¼khík{kt WíÃkkËLk Úkíke Mkkzeyku yLku íkuLkk hkßÞkuLke òuzeyku Ãkife fE òuze ÞkuøÞ Au ?

(1)  íkLík Mkkze (Tant Sarees)  –  Ãkrù{ çktøkk¤

(2)  fMkkðwt Mkkze (Kasava)  –  fýkoxf

(3)  fktSðh{ (Kanjeevaram)  –  fuh¤k

(4)  çkku{fkE (Bomkai)  –  yktÄú«Ëuþ
(A) 2 (B) 1
(C) 3 (D) 4
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021. ¼khíkLkk Mktøkeíkfkh yLku íkuykuLkk MktçktÄeík ðkãLke òuzeyku Ãkife fE òuz ÞkuøÞ LkÚke ?
(A) Ãktrzík þeðfw{kh þ{ko  –  Mktíkwh (Santoor) (B) ©e nhe«MkkË [kihMkeÞk  –  ðktMk¤e (Flute)
(C) WMíkkË Íkfeh nwMkuLk  –  íkçk÷k (Tabla) (D) y{ÍË y÷e¾kLk  –  Yÿrðýk (Rudra Veena)

022. rnLËe ¼k»kkLkk ÷u¾fku yLku íkuykuLke f]ríkykuLku ÞkuøÞ heíku òuzku.
(1)  «u{[tË (a)  rLk{o÷k
(2)  nrhðtþhkÞ “çkå[Lk” (b)  {Äwþk÷k
(3)  {nkËuðe ð{ko (c)  Þk{k
(4)  sÞþtfh «MkkË (d)  fk{kÞLke
(A) 1 - b,  2 - c,  3 - d,  4 - a (B) 1 - c,  2 - d,  3 - a,  4 - b
(C) 1 - a,  2 - b,  3 - c,  4 - d (D) 1 - d,  2 - a,  3 - b,  4 - c

023. ¼khíkLkk {tËehku yLku íkuLkk MÚk¤ ytøkuLke òuzeyku Ãkife fE òuze ÞkuøÞ LkÚke ?
(A) Mkwðýo {trËh (Golden Temple)  –  y{]íkMkh
(B) ©e ðUfxuïh {tËeh (Sri Venkateswara Temple)  –  hk{uïh
(C) {eLkkûke yB{Lk {tËeh (Minakshi Amman Temple)  –  {ËwhkE
(D) ©e çkúnËuïh {tËeh (Brahadeshwara Temple)  –  íkktòðwh

024. ¼khíkLkk «rMkæÄ ÞwæÄku yLku íku ÞwæÄ SíkLkkhLke òuzeyku Ãkife fE òuze ÞkuøÞ LkÚke ?
(A) íkhkELk (Tarain) Lkwt çkesw ÞwæÄ – {nB{Ë ½kuhe
(B) çkõMkh (Buxer) Lkwt ÞwæÄ  –  çkúexeþ EMx EÂLzÞk ftÃkLke
(C) ÃkkýeÃkíkLkwt (Panipat) Lkwt ºkesw ÞwæÄ  –  yn{Ëþkn yçkËk÷e
(D) nzMkÃkkMk (Hydaspes) ÞwæÄ  – yþkuf

025. ¼khík{kt ykðu÷ ÃkhËuþe Þkºkeyku y™u íku Mk{ÞLkk þkMkfkuLke òuzeyku økkuXðku.
(1)  çkŠLk[h – £U[ (a)  ykihtøkÍuçk
(2)  Ãkexh {tze – Exk÷eÞLk (b)  þknsnkt
(3)  Mkh xkì{Mk hku – ytøkúus (c)  snktøkeh
(4)  hkÕV rV[ – ytøkúus (d)  yfçkh
(A) 1 - b,  2 - c,  3 - d,  4 - a (B) 1 - a,  2 - b,  3 - c,  4 - d
(C) 1 - c,  2 - d,  3 - a,  4 - b (D) 1 - d,  2 - a,  3 - b,  4 - c

026. {æÞÞwøkeLk hksÃkwík ðtþLkk þkMkfku çkkçkík{kt Lke[uLkk Ãkife fÞw ðkõÞ ÞkuøÞ LkÚke ?
(A) fk~{eh{kt WíÚk÷ ðtþLkk þkMkfku hkßÞ fhíkk níkk.
(B) fk{YÃk (ykMkk{){kt Mkk÷t¼, nsoh ð{ko, ðLk{k÷ ð{ko suðk þkMkfku níkk.
(C) çkwtËu÷ ¾tz{kt Lkkøk¼è «Úk{, Ëuðhks, {nuLÿ Ãkk÷ suðk þkMkfku níkk.
(D) øktÄkh{kt þkrnÞk ðtþLkk þkMkfku níkk.

027. frð / MkkrníÞfkh yLku f]ríkLke Lke[uLke òuzeyku Ãkife fE òuze / òuzeyku ÞkuøÞ Au ?
(1)  Ãktrzík LkkhkÞý  –  rníkkuÃkËuþ
(2)  rðþk¾k Ë¥k  –  hksíkhtrøkýe
(3)  fÕný  –  {wÿk hkûkMk
(4)  {uhwíkwtøk  –  Ãk]Úðehks hkMkku
(A) {kºk 1 (B) {kºk 1 yLku 2
(C) {kºk 1, 2 yLku 3 (D) 1, 2, 3 yLku 4
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028. nzÃÃkeÞ Lkøkh ykÞkusLk{kt, Lke[uLkk Ãkife fE çkkçkík òuðk {¤u÷ LkÚke ?

(A) Lkøkhku çku ¼køk{kt rð¼krsík ÚkÞu÷ Au. yLkksLkk fkuXkhku Au yLku rfÕ÷k suðk ¼køkLku [khu çkksw rfÕ÷uçktÄe fhu÷ Au.

(B) fkx¾qýu fÃkkíkk hMíkkyku, {wÏÞ {køkkuo MkkÚku LkkLkk hMíkkykuLkwt òuzký ¾kMk çkkçkík Au.

(C) ½hkuLku {kºk yuf ykuhzku Au yLku fqðku, hMkkuzw, çkkÚkY{ suðe ÔÞðMÚkk LkÚke.

(D) ykÄwrLkf MLkkLkkøkkhLku {¤íkwt {k¤¾wt Au, íku{kt Wíkhðk Mkeze, þwæÄ Ãkkýe {kxu fwðkLke Mkøkðz Au.

029. ytøkúus þkMkfku yLku íkuykuLke yøkíÞLke fk{økehe ytøkuLke òuzeyku Ãkife fE òuze ÞkuøÞ LkÚke ?

(A) ðu÷uM÷e – økðLkoh sLkh÷ – Mknfkhe ÞkusLkk, zeðkEz yuLz YÕMk ÞkusLkk

(B) zu÷nkWMke – ¾k÷Mkk Lkerík, ytøkúuS rþûkýLkku Vu÷kðku, ºký ÞwrLkðŠMkxeykuLke MÚkkÃkLkk

(C) rðr÷Þ{ çkuÂLxf – WËkh rð[khMkhýeLke þYykík, ðneðx{kt ¼khíkeÞkuLku MÚkkLk

(D) ðkEMkhkìÞ fÍoLk – sr÷Þktðk÷k çkkøkLkku níÞkfktz

030. 1946 {kt h[ðk{kt ykðu÷e ð[økk¤kLke Mkhfkh{kt fkÞofkhe Ãkrh»kË (Executive Council) {kt WÃk-«{w¾ (Vice
President) fkuý níkk ?

(A) ©e sðknh÷k÷ LknuY (B) ©e zkp. yuMk. hkÄkf]»ýLk

(C) ©e Mke. hksøkkuÃkk÷k[khe (D) ©e zkp. hksuLÿ «MkkË

031. Lke[uLkk Ãkife fÞk çktËh (Port) Lku çkçkw÷ {¬k (Babul Makka) ({¬k sðk {kxuLkku Ëhðkòu) íkhefu yku¤¾ðk{kt
ykðíkwt níkwt ?

(A) fk÷efx (Calicut) (B) ¾t¼kík (Cambay)

(C) ¼Y[ (Broach) (D) Mkwhík (Surat)

032. E.Mk. 1930 {kt økktÄeSyu MkrðLkÞ fkLkqLk¼tøk [¤ð¤ fÞk MÚk¤uÚke þY fhu÷ níke ?

(A) Mkuðkøkúk{ (B) Ëktze

(C) Mkkçkh{íke yk©{ (D) ðÄko

033. økËh Ãkkxeo (Ghadar Party) Lkk Lke[uLkk Ãkife fÞk Lkuíkk níkk ?

(A) ¼økík ®Mkn (Bhagat Singh) (B) ÷k÷k nhËÞk÷ (Lala Hardayal)

(C) çkk÷ øktøkkÄh xe¤f (Bal Gangadhar Tilak) (D) rðh Mkkðhfh

034. 1943 {kt, EÂLzÞ LkuþLk÷ yk{eo (I.N.A.) Lke MÚkkÃkLkk fÞk MÚk¤u fhðk{kt ykðu÷ níke ?

(A) ®MkøkkÃkwh (Singapore) (B) çk{ko (Burma)

(C) òÃkkLk (Japan) (D) {÷kÞk (Malaya)

035. rðLkkuçkk ¼kðu îkhk þY fhðk{kt ykðu÷ ¼qËkLk «ð]r¥k (Bhoodan Movement) fÞk MÚk¤uÚke þY fhðk{kt ykðu÷
níke ?

(A) WËÞøkehe (Udaigiri) (B) hkÃkwh (Rapur)

(C) Ãkku[{ÃkÕ÷e (Pochampalli) (D) ðUfxeøkehe (Venkatagiri)

036. r¢ÃMk {eþLk (Cripps Mission) MkkÚku [[ko fhðk fkUøkúuMkLkk fÞk «ríkrLkrÄyku níkk ?

(A) {nkí{k økktÄe yLku MkhËkh Ãkxu÷ (B) yk[kÞo r¢Ãk÷kLke yLku Mke. hksøkkuÃkk÷k[khe

(C) Ãktzeík sðknh÷k÷ LknuY yLku {ki÷kLkk ykÍkË (D) zkp. hksuLÿ «MkkË yLku hVe yun{Ë rfzðkE

037. ÃkwhðXk ykÄkheík yÚkoþkMºk (Supply side economy) Lke[uLkk Ãkife fE çkkçkík WÃkh MkkiÚke ðÄw æÞkLk ykÃku Au ?

(A) fk[k {k÷Lke ®f{ík (B) økúknf

(C) ykzíkeÞku (Middleman) (D) yktíkhhk»xÙeÞ ykŠÚkf ÃkrhÂMÚkrík
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038. Äe fVk÷k ÃkæÄíke (The Kafala System) Lke[uLkk Ãkife fE çkkçkík WÃkh rLkÞtºký hk¾u Au ?

(A) fkçkoLk ytøkuLkku ÔÞkÃkkh (Carbon Trade) (B) ykuE÷ yLku Lku[h÷ økìMk (Oil and natural gas)

(C) ÃkhËuþe «ðkMkeyku (Foreign Tourist) (D) MÚk¤ktíkh fhLkkh {sqhku (Migrant workers)

039. “økúeLk x{o ynuz {kfuox” (Green Term Ahead Market) (GTAM) fE çkkçkíkku MkkÚku Mktf¤kÞu÷ Au ?

(A) MkkuþeÞ÷ heMÃkkuLMkeçk÷ ELðuMxeøkuxªøk (Social Responsible Investing) (SRI)

(B) MkkÞLxeVef MkkuþeÞ÷ heMÃkkuLMkeçke÷exe (Scientific Social Responsibility) (SSR)

(C) MkMxuLkuçk÷ zuð÷Ãk{uLx {efuLkeÍ{ (Sustainable Development Mechanism) (SDM)

(D) WÃkhkuõík Ãkife fkuEÃký Lknª

040. ASEEM Portal fkuLkk îkhk þY fhðk{kt ykðu÷ Au ?

(A) R÷uõxÙkurLkf yLku Mkq[Lkk xufLkku÷kuS {tºkk÷Þ (Ministry of Electronics and Information Technology)
(MeitY)

(B) fkiþÕÞ rðfkMk yLku Wã{þe÷íkk {tºkk÷Þ (Ministry of Skill Development and Entrepreneurship)
(MSDE)

(C) ykðkMkLk yLku þnuhe fkÞo {tºkk÷Þ (Ministry and Housing and Urban Affairs (MoHUA)

(D) økúk{eý rðfkMk {tºkk÷Þ (Ministry of Rural Development) (MoRD)

041. ø÷kuçk÷ ELkkuðuxeð ELzuõMk (Global Innovative Index) fE MktMÚkk îkhk ònuh fhðk{kt ykðu Au ?

(A) ðÕzo EfkuLkku{ef Vkuh{ (World Economic Forum)

(B) ðÕzo çkuLf (World Bank)

(C) ðÕzo ELxu÷ufåÞwy÷ «kuÃkxeo ykuøkuoLkkEÍuþLk (World Intellectual Property Organisation)

(D) ELzeÞLk [uBçkh ykìV fku{Mko (Indian Chamber of Commerce)

042. çkeÍLkuMk heVkì{o yuõþLk Ã÷kLk (Business Reform Action Plan) (BRAF) 2019 Lkk «Úk{ ºký hkßÞku fÞk Au ?

(A) W¥kh«Ëuþ, íku÷tøkkýk, økwshkík (B) yktÄú«Ëuþ, W¥kh«Ëuþ, íku÷tøkkýk

(C) økwshkík, {æÞ«Ëuþ, {nkhk»xÙ (D) {nkhk»xÙ, økwshkík, íkkr{÷Lkkzw

043. Äe ø÷kuçk÷ {ÕxezkÞ{uLþLk÷ Ãkkuðhxe ELzuõMk (The Global Multidimensional Poverty Index) (GMPI)
ytøkuLke fk{økehe {kxu Lkkuz÷ yusLMke íkhefu fE MktMÚkkLke rLk{ýqf ÚkÞu÷ Au ?

(A) yktfzkþkMºk yLku fkÞo¢{ fkÞo {tºkk÷Þ (B) {rn÷k yLku çkk¤rðfkMk {tºkk÷Þ

(C) Lkerík ykÞkuøk (D) MðkMÚÞ yLku Ãkrhðkh fÕÞký {tºkk÷Þ

044. {wLÿk çktËh (Mundra Port) fÞk MÚk¤u ykðu÷ Au ?

(A) fåALke ¾kze WÃkh (Gulf of Kutch) (B) ¾t¼kíkLke ¾kze WÃkh (Gulf of Khambhat)

(C) {LkkhLke ¾kze WÃkh (Gulf of Mannar) (D) WÃkhkuõík Ãkife yufÃký Lknª

045. hk»xÙeÞ økkufw÷ {eþLk (Rashtriya Gokul Mission) MktË¼o{kt, Lke[uLkk Ãkife fÞk ðkõÞku ÞkuøÞ Au ?

(1)  Ëuþe ÃkþwykuLkwt ÞkuøÞ MktðÄoLk fhðwt suÚke Mkkhe òíkLke, ðÄkhu ÞkuøÞ yku÷kË {¤e þfu.

(2)  Mkkhe yku÷kËLkk yk¾÷k WAuhðk suÚke yk¾hu ËqÄLke {kºkk yLku økwýð¥kk MkwÄhu.

(A) {kºk 1 ðkõÞ ÞkuøÞ Au. (B) {kºk 2 ðkõÞ ÞkuøÞ Au.

(C) 1 yLku 2 çktLku ðkõÞku ÞkuøÞ Au. (D) 1 yLku 2 çktLku ðkõÞku ÞkuøÞ LkÚke.

046. ¼khík{kt Ëh ð»kuo “hk»xÙeÞ Þwðk rËðMk” õÞkhu WsðkÞ Au ?

(A) 10 òLÞwykhe - 10th January (B) 11 òLÞwykhe - 11th January

(C) 12 òLÞwykhe - 12th January (D) 13 òLÞwykhe - 13th January
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047. Lke[uLkk Ãkife fÞk hkßÞyu “MkkÃkLkk Mkt[k÷LkLku MktMÚkkfeÞ çkLkkðu÷ Au ? (Institutionalize Snake handling)

(A) ykuzeMkk (B) fuh÷k

(C) fýkoxf (D) W¥kh«Ëuþ

048. Lke[uLkk Ãkife fÞk ðkõÞku ÞkuøÞ Au ?

(1)  hkßÞLkku ðneðx, MktrðÄkLkLke òuøkðkEyku {wsçk [÷kðe þfkÞ íku{ Lk nkuÞ íÞkhu hk»xÙÃkrík WËT½ku»kýk fheLku
ÃkkuíkkLkk nkÚk{kt ðneðx Mkt¼k¤e þfu Au.

(2)  yk WËT½ku»kýk çkkË hk»xÙÃkrík þkMkLk Ëk¾÷ fhðk{kt ykðu Au, yk WËT½ku»kýk MktMkË Mk{ûk {wfðkLke sYh LkÚke.

(A) {kºk 1 ðkõÞ ÞkuøÞ Au. (B) {kºk 2 ðkõÞ ÞkuøÞ Au.

(C) 1 yLku 2 çktLku ðkõÞku ÞkuøÞ Au. (D) 1 yLku 2 çktLku ðkõÞku ÞkuøÞ LkÚke.

049. Lke[uLkk Ãkife fÞk ðkõÞku ÞkuøÞ Au ?

(1)  çktÄkhýLkku MkwÄkhku fkuEÃký øk]n{kt hsq fhe þfkÞ Au.

(2)  MkwÄkhk {kxuLkwt çke÷ {kºk {tºke©e hsq fhe þfu Au.

(3)  çktÄkhýLkk MkwÄkhk Ãknu÷k {kLk. hk»xÙÃkríkLke {tsqhe sYhe Au. íÞkh çkkË s çke÷ hsq ÚkE þfu.

(4)  çktÄkhýLkk Ëhuf MkwÄkhk {kxu Ëhuf rðÄkLkMk¼kLke {tsqhe sYhe Au.

(A) 1, 2, 3 yLku 4 ÞkuøÞ Au. (B) 1 yLku 3 ÞkuøÞ Au.

(C) 1 yLku 2 ÞkuøÞ Au. (D) {kºk 1 ÞkuøÞ Au.

050. Lke[uLkk Ãkife fÞwt ðkõÞ / fÞk ðkõÞku ÞkuøÞ Au ?

(1)  økðLkoh ÃkkuíkkLkwt hkSLkk{w MktçktÄeík hkßÞLkk {wÏÞ{tºke©eLku hsq fhu Au.

(2)  økðLkohLku Ëqh fhðk {kxuLkk fkhýku çktÄkhý{kt Ëþkoðu÷ LkÚke.

(A) {kºk 1 ðkõÞ ÞkuøÞ Au. (B) {kºk 2 ðkõÞ ÞkuøÞ Au.

(C) 1 yLku 2 çktLku ðkõÞku ÞkuøÞ Au. (D) 1 yLku 2 çktLku ðkõÞku ÞkuøÞ LkÚke.

051. ¼khíkLkk MktrðÄkLkLkk yk{w¾{kt MkkiÚke yøkíÞLkku fÞku MkwÄkhku çktÄkhýeÞ MkwÄkhkÚke fhðk{kt ykðu÷ níkku ?

(A) 41{ku MkwÄkhku (B) 42{ku MkwÄkhku

(C) 43{ku MkwÄkhku (D) 44{ku MkwÄkhku

052. çktÄkhýLke f÷{ ‘21 f’ (21 A) nuX¤ fE çkkçkíkLke òuøkðkE fhðk{kt ykðu÷e Au ?

(A) ònuh LkkufheLke çkkçkíkku{kt íkfLke Mk{kLkíkk (B) yMÃk]~Þíkk LkkçkqËe

(C) r¾íkkçkkuLke LkkçkqËe (D) rþûkýLkku n¬

053. Lke[u Ãkife fÞwt ðkõÞ ÞkuøÞ LkÚke ?

(1)  hkßÞLke ÔÞkÏÞk ¼køk 3 {kt ykxeof÷ (yLkwåAuË/f÷{) 12 {kt ykÃkðk{kt ykðu÷ Au.

(2)  hkßÞLkeríkLkk {køkoËþof rMkæÄktíkkuLke f÷{ 45 {kt, WãkuøkkuLkk ðneðx{kt fk{ËkhkuLke ¼køkeËkheLke òuøkðkE fhðk{kt
ykðu÷e Au.

(A) {kºk 1 ðkõÞ ÞkuøÞ Au. (B) {kºk 2 ðkõÞ ÞkuøÞ Au.

(C) 1 yLku 2 çktLku ðkõÞku ÞkuøÞ LkÚke. (D) 1 yLku 2 çktLku ðkõÞku ÞkuøÞ Au.

054. “ykÃkýe Mk{ÂLðík MktMf]ríkLkk Mk{]Ø ðkhMkkLkwt {qÕÞ Mk{S íku ò¤ðe hk¾ðkLke Ëhuf LkkøkrhfLke Vhs Au.” yk òuøkðkE
fÞk yLkwåAuË/f÷{{kt fhðk{kt ykðu÷e Au ?

(A) 51-f - øk (B) 51-f - Ä

(C) 51-f - [ (D) 51-f - A
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055. ¼khíkLkk MktrðÄkLk {wsçk “MktMkË” {kt fkuLkku Mk{kðuþ ÚkkÞ Au ?

(1)  {kLk. hk»xÙÃkrík

(2)  hkßÞMk¼k

(3)  ÷kufMk¼k

(4)  hkßÞkuLke rðÄkLkMk¼kyku

(A) 1, 2 yLku 4 (B) 1, 3 yLku 4

(C) 1, 2 yLku 3 (D) 1, 2, 3 yLku 4

056. Lke[uLkwt ðkõÞ [fkMkku :

“¼khíkLkk yuf hk»xÙÃkrík hnuþu yLku íkuykuLkk Mkt½Lke fkhkuçkkheLke Mk¥kk yLku Mkt½Lkk Mkthûký Ë¤kuLkwt MkðkuoÃkhe ykrÄÃkíÞ
rLkrník Úkþu.”

yk òuøkðkE ¼khíkLkk çktÄkhýLke fE f÷{ku{kt Ëþkoðu÷ Au ?

(A) 52 yLku 53 (B) 53 yLku 54

(C) 54 yLku 55 (D) 55 yLku 56

057. hkßÞLkk hkßÞÃkk÷ íkhefu rLk{ýqf {kxu ÷½w¥k{ ô{h fux÷e Au yLku çktÄkhýLke fE f÷{{kt íkuLke òuøkðkE Au ?

(A) 45 ð»ko yLku f÷{ 157 (B) 35 ð»ko yLku f÷{ 157

(C) 25 ð»ko yLku f÷{ 158 (D) 18 ð»ko yLku f÷{ 158

058. “hkßÞ Mkuðkyku{kt LÞkÞíktºkLku fkhkuçkkhe íktºkÚke y÷øk fhðk hkßÞ Ãkøk÷k ¼hþu.” yk çkkçkík ¼khíkLkk çktÄkhýLke fE
f÷{{kt Ëþkoðu÷ Au ?
(A) 48 (B) 49
(C) 50 (D) 51

059. ¼khíkLkk çktÄkhý{kt, Ãkt[kÞíkku MktçktÄeík ÔÞkÏÞkyku (Definations) fE f÷{{kt çkíkkðu÷ Au ?
(A) 243 (B) 242
(C) 241 (D) 240

060. ¼khíkLkk çktÄkhý{kt [qtxýe ykÞkuøkLke òuøkðkE çktÄkhýLke fE f÷{ nuX¤ fhðk{kt ykðu÷ Au ?
(A) 322 (B) 323
(C) 324 (D) 325

061. ¼khíkLkk {krníke Ãkt[Lke h[Lkk {krníkeLkku yrÄfkh yrÄrLkÞ{-2005 Lke fE f÷{ nuX¤ fhðk{kt ykðu Au ?
(A) 12 (B) 13
(C) 14 (D) 15

062. fuLÿeÞ Mkíkfoíkk ykÞkuøk yrÄrLkÞ{ (Central Vigilance Commission Act) õÞkhÚke y{÷{kt ykðu÷ Au ?
(A) 2001 (B) 2002
(C) 2003 (D) 2004

063. yuf MktÏÞkLkk 40% {ktÚke 40 çkkË fhíkk 40 çkkfe hnu Au íkku íku MktÏÞk fE nþu ?
(A) 400 (B) 300
(C) 200 (D) 100

064. yuf 40 ÞwðkLkkuLke Mkhuhkþ ô{h 25 ð»ko Au. òu íku{kt íkuLkk LkuíkkLke ô{h W{uhðk{kt ykðu íkku çkÄkLke Mkhuhkþ ô{h 26 ð»ko
ÚkkÞ Au. yk Mktòuøkku{kt LkuíkkLke ô{h fux÷e nþu ?

(A) 25 ð»ko (B) 26 ð»ko

(C) 66 ð»ko (D) 41 ð»ko
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065. yuf MktÏÞk{kt íkuLkk ÃkAeLke ¢r{f MktÏÞkLkk çk{ýk W{uhíkk 122 Lke MktÏÞk {¤u Au. íkku íku MktÏÞk fE nþu ?
(A) 39 (B) 40
(C) 41 (D) 42

066. 2 xuçk÷ yLku 8 ¾whþeLke ®f{ík 29,000 Yk. Au yLku 5 xuçk÷ yLku 10 ¾whþeLke ®f{ík 47,500 Yk. Au. yk Mktòuøkku{kt yuf
xuçk÷ yLku ¾whþeLke ®f{ík fux÷e nþu ?

(A) xuçk÷ 4,500 Yk. yLku ¾whþe 2,500 Yk. (B) xuçk÷ 2,500 Yk. yLku ¾whþe 4,500 Yk.

(C) xuçk÷ 7,000 Yk. yLku ¾whþe 2,000 Yk. (D) xuçk÷ 8,500 Yk. yLku ¾whþe 1,500 Yk.

067. yuf xktfe{kt «Úk{ Lk¤ [k÷w fhðk{kt ykðu íkku 30 r{rLkx{kt, çkeòu Lk¤ 20 r{rLkx{kt yLku ºkeòu Lk¤ 60 r{rLkx{kt xktfe
¼hu Au. òu ºkýuÞ Lk¤ MkkÚku [k÷w fhðk{kt ykðu íkku fux÷k Mk{Þ{kt xktfe ¼hkþu ?

(A) 10 r{rLkx (B) 12 r{rLkx

(C) 15 r{rLkx (D) 18 r{rLkx

068. 60 rf{e/f÷kfLke ÍzÃku síke 90 {exh økkze íku s rËþk{kt 50 rf{e/f÷kfLke ÍzÃku síke 110 {exh økkzeLku fux÷k
Mk{Þ{kt ÃkMkkh Úkþu ?

(A) 72 Mkuftz (B) 84 Mkuftz

(C) 96 Mkuftz (D) 108 Mkuftz

069. yuf Lkkð LkËeLkk «ðkn MkkÚku 50 rf{e/f÷kfLke ÍzÃku òÞ ßÞkhu Mkk{k «ðknku 40 rf{e/f÷kfLke ÍzÃku òÞ Au. íkku «ðkn
yLku LkkðLke ÍzÃk fux÷e nþu ?

(A) Lkkð - 50 rf{e/f÷kf,  «ðkn - 40 rf{e/f÷kf (B) Lkkð - 45 rf{e/f÷kf,  «ðkn - 10 rf{e/f÷kf

(C) Lkkð - 45 rf{e/f÷kf,  «ðkn - 5 rf{e/f÷kf (D) Lkkð - 40 rf{e/f÷kf,  «ðkn - 10 rf{e/f÷kf

070. yuf çkkuõMk{kt 1 Yk., 50 ÃkiMkk yLku 25 ÃkiMkkLkk 2:3:4 «{ký rMk¬k Au, òu çkÄkLke fw÷ rf{ík 180 Yk. nkuÞ íkku 50
ÃkiMkkLkk fux÷k rMk¬k nþu ?
(A) 80 (B) 120
(C) 160 (D) 360

071. A yLku B {¤eLku yuf fk{ 72 rËðMk{kt, B yLku C {¤eLku íku fk{ 120 rËðMk{kt yLku A yLku C {¤eLku íku fk{ 90
rËðMk{kt Ãkqýo fhu Au, íkku ºkýuÞ ¼uøkk {¤eLku íku fk{ fux÷k rËðMk{kt Ãkqýo fhþu ?

(A) 60 rËðMk (B) 45 rËðMk

(C) 30 rËðMk (D) 15 rËðMk

072. yuf {kuxh MkkÞf÷Lkk ÃkizkLkku ÔÞkMk 70 Mku{e Au. yk {kuxh MkkÞf÷Lku 11 rf÷ku{exh sðkLkwt nkuÞ íkku, Ãkizw fux÷k yktxk
{khþu ?

(A) 15,000 yktxk (B) 10,000 yktxk

(C) 5,000 yktxk (D) 3,000 yktxk

073. yuf {tËeh{kt 4 ½txze yLkw¢{u 5, 6, 8 yLku 10 MkufLz çkkË ðkøku Au, òu Ãknu÷eðkh 4 ½txzeyku yuf MkkÚku ðkøku íkku VheÚke
4 ½txzeyku MkkÚku VheÚke õÞkhu ðkøkþu ?

(A) 60 MkufLz (B) 90 MkufLz

(C) 120 MkufLz (D) 150 MkufLz

074. yuf [kuhMkLke ÷tçkkE{kt 20% ½xkzku fhðk{kt ykðu íkku íkuLkk ûkuºkV¤{kt fux÷ku ½xkzku ÚkkÞ ?
(A) 20% (B) 25%
(C) 30% (D) 36%
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075. ©uýe Ãkqhe fhku : 1, 9, 25, 49, ...... yLku ......

(A) 81 yLku 121 (B) 81 yLku 156

(C) 100 yLku 121 (D) 100 yLku 156

076. çkkÞkuøkìMk (Bio-gas) {kt {wÏÞíðu fÞk økìMk (ðkÞwyku) Au ?

(A) {eÚkuLk yLku nkEzÙkusLk (Mithane and Hydrogen)

(B) {eÚkuLk yLku LkkExÙkusLk (Mithane and Nitrogen)

(C) {eÚkuLk yLku fkçkoLk zkÞkuõMkkEz (Mithane and Carbondioxide)

(D) {eÚkuLk yLku nkEzÙkusLk MkÕVkE (Mithane and Hydrogen sulfied)

077. Lke[uLkk Ãkife fE çkkçkík / çkkçkíkku s{eLkLkk LkkExÙkusLk (Nigrogen) {kt W{uhku fhu Au ?

(1)  fku÷MkkLkku WÃkÞkuøk

(2)  ðLkMÃkríkLkwt s{eLk{kt rðMksoLk (Death of Vegetation)

(3)  «kýeyku îkhk ÞwrhÞkLkwt WíMksoLk (Excertion fo urea by animals)

(A) 1 yLku 2 (B) 2 yLku 3

(C) 3 yLku 1 (D) 1, 2 yLku 3

078. fu{ef÷ «kýðkÞw rz{kLz (Chemical Oxygen Demand) (COD) fÞk fkÞo {kxu WÃkÞkuøk{kt ÷uðk{kt ykðu Au ?

(A) ÷kune{kt «kýðkÞwLkwt «{ký òýðk.

(B) støk÷ rðMíkkh{kt «kýðkÞwLkwt «{ký òýðk.

(C) øktËk Ãkkýe{kt ykuøkuoLkef ½xfkuLku Mkzðk {kxu «kýðkÞwLke sYheÞkík òýðk.

(D) ykuÂõMksLk Þwõík «r¢Þk{kt «kýðkÞwLkk WÃkÞkuøkLke sYheÞkík òýðk.

079. Ã÷kMxh ykìV ÃkuheMk (Plaster of Paris) þu{ktÚke çkLku Au ?

(A) ykhMkÃknký (Marble) (B) Mke{uLx (Cement)

(C) rsÃMk{ (Gypsum) (D) [wLkku (Limestone)

080. Lke[uLkk Ãkife fkuLku ÷kVªøk økìMk (Laughing Gas) íkhefu Ãký yku¤¾ðk{kt ykðu Au ?

(A) LkkExÙef yurMkz (Nitric Acid) (B) LkkExÙef ykuõMkkEz (Nitric oxide)

(C) LkkÞxÙMk ykuõMkkEz (Nitrous oxide) (D) LkkExÙkusLk (Nigrogen)

081. ¼khík ËuþLkk yðfkþ fkÞo¢{Lkk rÃkíkk fkuLku fnuðk{kt ykðu Au ?

(A) zkp. rð¢{ Mkkhk¼kE (Dr. Vikram Sarabhai)

(B) zkp. Mkrík»k ÄðLk (Dr. Satish Dhawan)

(C) zkp. nku{e su. ¼k¼k (Dr. Homi J. Bhabha)

(D) zkp. r¢»ýMðk{e fMíkwhehtøkLk (Dr. Krishnaswami Kasturirangan)

082. Lke[uLkk Ãkife fE òuze ÞkuøÞ LkÚke ?

(A) rðf]ríkfhý (Denaturation)  –  «kuxeLMk (Protins)

(B) heðMko ykìMk{kìMkeMk (Reverse Osmosis)  –  ÃkeðkLkwt Ãkkýe (Potable water)

(C) rzMku÷eLkuþLk (Desalination)  –  Mk{wÿLkwt Ãkkýe (Sea water)

(D) Ãkkïhefhý (Pesteurisation)  –  [k (Tea)
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083. nu{kuø÷kuçkeLk (Hemoglobin) çkkçkík{kt fÞk ðkõÞku ÞkuøÞ Au ?

(1)  íkuLkku htøk ÷k÷ Au.

(2)  VuVMkk{ktÚke fku»k MkwÄe «kýðkÞwLkwt ðnLk fhu Au.

(3)  íku Mknus yurMkrzf Au.

(4)  fku»kÚke VuVMkk MkwÄe fkçkoLk zkÞkuõMkkEzLkwt ðnLk fhu Au.

(A) 1, 2 yLku 3 (B) 1, 3 yLku 4

(C) 2, 3 yLku 4 (D) 1, 2 yLku 4

084. {Lkw»ÞLkk Ãkux{kt, Ãkk[Lk (Digestion) {kxu Lke[uLkk Ãkife fÞw yuMkez WíÃkLLk ÚkkÞ Au ?

(A) MkÕ^Þwhef yuMkez (Sulphric Acid) (B) nkÞzÙkuõ÷kuhef yuMkez (Hydrochloric Acid)

(C) yurMkrxf yuMkez (Ascetic Acid) (D) LkkÞxÙef yuMkez (Naitric Acid)

085. x{uxkLkku htøk ÷k÷, Lke[uLkk Ãkife fkuLkk fkhýu nkuÞ Au ?

(A) rðxk{eLk-Mke (Vitamin-C) (B) ÷kÞfkuÃkuLke (Lycopene)

(C) ¢ku{ku Ã÷uxTMk (Chromoplasts) (D) ÕÞwfkuÃ÷kMx (Leucoplast)

086. Lke[uLkk{ktÚke 2020 {kt hkSð økktÄe ¾u÷ híLk yuðkuzo fkuLku ykÃkðk{kt ykðu÷ Au ?

(1)  ©e hkuneík þ{ko (Rohit Sharma)

(2)  {heÞÃÃkLk Úktøkðu÷w (Mariyappan)

(3)  rðLkuþ Vkuøkx (Vinesh Phogat)

(4)  hkLke hk{Ãkk÷ (Rani Rampal)

(A) 1, 2, 3 yLku 4 (B) 1, 2 yLku 3

(C) 1, 2 yLku 4 (D) 1, 3 yLku 4

087. h{íkLkk {uËkLkku yLku íkuLkk MÚk¤kuLku ÞkuøÞ heíku økkuXðku.

(1)  çkhkçkíke MxuzeÞ{ (Barabati Stadium) (a)  fkuÍefkuze (Kozhikode) - fuh÷k

(2)  çkwæÄ ELxhLkuþLk÷ Mkfeox (b)  øðk÷eÞh - {æÞ «Ëuþ

(3)  fuÃxLk YÃkMkªøk MxuzeÞ{ (c)  fxf - ykuzeMkk

(4)  R.yu{.yuMk. MxuzeÞ{ (EMS (Corporaion) Stadium) (d)  LkkuÞzk - W¥kh«Ëuþ

(A) 1 - d,  2 - b,  3 - a,  4 - c (B) 1 - c,  2 - d,  3 - b,  4 - a
(C) 1 - b,  2 - a,  3 - c,  4 - d (D) 1 - a,  2 - c,  3 - d,  4 - b

088. ¼khíkLkk h{íkðehku yLku íkuykuLke h{ík ytøkuLke òuzeyku Ãkife fE òuzeyku ÞkuøÞ Au ?

(1)  æÞkLk[tË – nkpfe

(2)  LkkhkÞý fkŠíkfuÞLk – MkkÞf÷ huMk

(3)  ÷eÞuLzh ÃkuMk – çkìz{eLxLk

(4)  rðïLkkÚk ykLktË – [uMk

(A) 1 yLku 2 (B) 1 yLku 3

(C) 1 yLku 4 (D) 1, 2, 3 yLku 4
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089. h{íkku yLku íkuLke MkkÚku òuzkÞu÷ xÙkuVe / fÃkLku ÞkuøÞ heíku òuzku.

(1)  nkpfe (a)  rnhk÷k÷ fÃk

(2)  Vwxçkku÷ (b)  fw[ çkenkh xÙkuVe

(3)  r¢fux (c)  yþwíkku»k xÙkuVe

(4)  çkìz{eLxLk (d)  ykøkk ¾kLk fÃk
(A) 1 - a,  2 - d,  3 - c,  4 - b (B) 1 - b,  2 - a,  3 - d,  4 - c
(C) 1 - c,  2 - b,  3 - a,  4 - d (D) 1 - d,  2 - c,  3 - b,  4 - a

090. Mk{h ykur÷ÂBÃkf h{íkku (Summer Olympic games) yLku MktçktÄeík ËuþkuLke òuzeyku Ãkife fE òuzeyku ÞkuøÞ Au ?

 ð»ko        MÚk¤

(1)  1896 – økúeMk (Greece)

(2)  2016 – çkúkÍe÷ (Brazil)

(3)  2020/2021 – s{oLke (Germany)

(4)  2024 – £kLMk (France)

(A) 1, 2 yLku 3 (B) 1, 2 yLku 4

(C) 1, 3 yLku 4 (D) 1, 2, 3 yLku 4

091. h{ík yLku Ëhuf xe{{kt h{ík h{Lkkh ¾u÷kzeykuLke MktÏÞk Ëþkoðíkk òuzfkyku Ãkife fE òuze ÞkuøÞ LkÚke ?

(A) Vwxçkku÷ (Football) –  11 (B) çkkMfux çkku÷ (Basketball) –  6

(C) çkuÍçkku÷ (Baseball) –  9 (D) ðkpxh Ãkku÷ku (Water Polo) –  7

092. yktíkhhk»xÙeÞ ¼úük[kh rðhkuÄe rËðMk õÞkhu Wsððk{kt ykðu Au ?

(A) 7 rzMkuBçkh (B) 8 rzMkuBçkh

(C) 9 rzMkuBçkh (D) 10 rzMkuBçkh

093. nk÷{kt fÞk fuLÿþkrMkík «Ëuþ (Union Territory) Lku 100% MkurLÿÞ (organic) rðMíkkh ònuh fhðk{kt ykðu÷ Au ?

(A) ËkËhk íkÚkk Lkøkh nðu÷e (B) sB{w yLku fk~{eh

(C) ÷ûkîeÃk (D) ytËk{kLk yLku rLkfkuçkkh

094. þnuhe þkMkLk Mkq[fktf (Urban Governance Index) fu su «ò VkWLzuþLk îkhk ònuh fhðk{kt ykðu Au, íku{kt «Úk{
yLku çkeò MÚkkLk Ãkh fÞk hkßÞku Au ?

(A) yktÄú«Ëuþ yLku yMk{ (B) ykuzeMkk yLku {nkhk»xÙ

(C) rçknkh yLku økkuðk (D) økwshkík yLku {nkhk»xÙ

095. Úkhw ykrËòrík ‘The tharu tribe’ {wÏÞíðu fÞk hkßÞ{kt òuðk {¤u Au ?

(A) W¥kh«Ëuþ (B) íkkr{÷Lkkzw

(C) rºkÃkwhk (D) A¥keMkøkZ

096. ÞwLkuMfku (UNESCO) îkhk nk÷{kt ¼khíkLkk fÞk çku þnuhkuLku “ðÕzo nuhexus þnuh (World Heritage Cities)”
ònuh fhðk{kt ykðu÷ Au ?

(A) niËhkçkkË yLku ExkLkøkh (B) rËMkÃkwh yLku ÃkxLkk

(C) ÃkýS yLku ríkYðLktíkÃkwh{T (D) ykuhAk yLku øðk÷eÞh (Orchha and Gwalior)

097. MkþMºk Ë¤kuLkku æðs rËðMk (Armed Force Flag Day) ¼khík{kt Ëh ð»kuo õÞkhu WsðkÞ Au ?

(A) 5 rzMkuBçkh (B) 6 rzMkuBçkh

(C) 7 rzMkuBçkh (D) 8 rzMkuBçkh

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight



AQC - GS - MASTER ] 13 [ P.T.O.

098. “«ðkMke / MÚk¤ktíkhe Ãkûke WíMkð (Migratory Bird Festival)” fÞk hkßÞ îkhk ykuÞkSík fhðk{kt ykðLkkh Au ?

(A) yYýk[÷ «Ëuþ (B) rçknkh

(C) rn{k[÷ «Ëuþ (D) fuh¤

099. “VkEð Mxkh rð÷us Mfe{ (Five Star Villages Scheme)” fÞk {tºkk÷Þ / rð¼køk îkhk þY fhðk{kt ykðu÷ Au ?

(A) zkf rð¼køk, Mkt[kh {tºkk÷Þ (B) f]r»k, Mknfkrhíkk yLku rfMkkLk fÕÞký rð¼køk

(C) ðkrýßÞ yLku Wãkuøk {tºkk÷Þ (D) {íMÞÃkk÷Lk rð¼køk

100. “þuhe yLku ÍqtÃkzÃkèeLkk çkk¤fku {kxu ykþkLke Ãknu÷ (Hope initiative to help street and slum children)”
ÞkusLkk nuX¤ ¼khíkLkk çkk¤fkuLku {ËË fhðkLkk nuíkwÚke Lke[uLkk Ãkife fE yuh÷kELku, ÃkkuíkkLkwt fu÷uLzh çkLkkðu÷ Au ?

(A) ÷wVÚkkLMkk yuh÷kELk (Lufthansa Airline) (B) yuh EÂLzÞk (Air India)

(C) MÃkkEMk sux (Spice Jet) (D) yuh yuþeÞk (Air Asia)
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101. As per the Gujarat Minor Mineral Concession Rules, 2017, the transferor and the transferee
shall, prior to the transfer, jointly submit a written application to the Government in the format
specified in _______, namely the “transfer application”, which shall also contain details of the
consideration payable by the transferee for the transfer, including the consideration in respect
of the work already undertaken and the reports and data generated during the operations.
(A) Form K (B) Form L
(C) Form M (D) None of the above

102. As per the Gujarat Minor Mineral Concession Rules, 2017, the Government should convey the
decision of approve or reject within a period of _______ from the date of receiving a transfer
application made under rule 44(2). Its decision to approve or reject such transfer for reasons to
be recorded in writing:
(A) Thirty days (B) Sixty days
(C) Ninety days (D) None of the above

103. As per the Gujarat Minor Mineral Concession Rules, 2017, the Government shall have the right
to terminate the quarry lease in the following situations
(A) If the lessee does not allow entry or inspection under sub-rules (15), (17), (20), (22) and

(23)of rule[18]
(B) If the lessee is convicted of illegal mining
(C) Both of above
(D) None of the above

104. As per Regulation- 36 of MMR 1961, in opencast mines worked by HEMM, Mechanical Engineer
shall be appointed, where aggregate H. P. of all machineries exceeds
(A) 750 (B) 250
(C) 450 (D) 500

105. For safety, welfare, and health of workers employed in mines, which of the following monitors
safety
(A) Pit safety committee (B) CIL Safety Board
(C) Bipartite/Tripartite Committee (D) All of the above

106. In the Gujarat Minor Mineral Concession Rules, 2017, as per rule 49 [1(b)] the quarry lease
holder shall furnish to the Government an annual return an annual return in electronic form in
_____ for every financial year, before the 30th April of the succeeding year.
(A) Form A (B) Form Q
(C) Form R (D) None of the above

107. If any employee contracts a notified occupational disease, the Mine Management shall send
notice to Regional Inspector in
(A) Form ‘I’ (B) Form ‘II’
(C) Form IV ‘C’ (D) Form ‘V’

108. DGMS comes under
(A) Ministry of Mines (B) Ministry of Labour
(C) Ministry of Coal (D) Ministry of Steel

109. Which of the following is correct statement?
(A) Medical certificates should be retained for 5 years from the date of medical examination
(B) Medical certificates should be retained as long as the person employed in mine
(C) Medical certificates should be maintained as long as the person employed and 10 years

thereafter
(D) Medical certificates should be maintained as long as the person employed and 5 years

thereafter
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110. Notice of accident causing death or serious bodily injury in connection with mining operations,
in Form IV ‘A’ shall be sent to Regional Inspector within _______ hours.
(A) 24 (B) 48
(C) 72 (D) 12

111. The appointment of the welfare officer is prescribed under
(A) Mines Rules (B) Mines Vocational Training Rules
(C) Coal Mines Regulation (D) Metalliferous Mines Regulation

112. What is the minimum number of persons to be employed when the owner, agent or manager
shall constitute a safety committee for promoting safety in the mines?
(A) 100 (B) 200
(C) 300 (D) 500

113. Which of the following certificate is considered as a valid first aid certificate for any persons
working therein a mine?
(A) Certificate from Medical Association of India
(B) Certificate from local dispensary
(C) Certificate from area level hospital
(D) Certificate from St. John’s Ambulance Association

114. How many days in a week the workmen’s inspector is supposed to perform the duties as mentioned
in rule 29R of Mines rules.
(A) 3 Years (B) 5 Years
(C) 7 Years (D) 12 Years

115. Who will set permanent or temporary speed limits, for any area of the Mine or any vehicle or
class of vehicle?
(A) Mines Manager (B) Senior Official
(C) DGMS (D) Mines Foreman

116. In exercise of the powers conferred by _______ of the Mines and Minerals (Development and
Regulation) Act, 1957 (67 of 1957), the Central Government empowered to makes the rules for
mines and minerals
(A) section 10 (B) section 13
(C) section 15 (D) section 17

117. Mineral (Auction) Rules was made in _______
(A) Year 2012 (B) Year 2014
(C) Year 2015 (D) Year 2017

118. Every Women employed in a mine above ground shall be allowed an interval of not less than
hours between the termination of employment on any one day the commencement of the next
period of employment.
(A)  11 (B) 12
(C) 24 (D) 16

119. Vide Notification No. 423(E) dated 10th February, 2015; Which is/are the below listed mineral/
minerals to be Minor Minerals in addition to the earlier declared Minor Minerals, i.e., marble,
granite, fuller’s earth and bentonite.
(A) China Clay (B) Gypsum
(C) Both of above (D) None of above
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120. In exercise of the powers conferred by _______ of the Mines and Minerals (Development and
Regulation) Act, 1957 (67 of 1957), the State Government empowered to makes the rules for
minor minerals.
(A) section 10 (B) section 13
(C) section 15 (D) section 17

121. Which of the following defines what business or businesses the firm is in or should be in?
(A) Business strategy (B) Corporate strategy
(C) Functional strategy (D) National strategy

122. Which of the following focuses on supporting the corporate and business strategies?
(A) Competitive strategy (B) Corporate strategy
(C) Operational strategy (D) National strategy

123. The three organizational levels are:
(A) corporate level, business level, functional level
(B) corporate level, business unit level, functional level
(C) corporate strategy level, business unit level, functional level
(D) corporate strategy level, business level, specialist level

124. What is the first stage of the marketing research process?
(A) definition of research objectives
(B) writing the research brief
(C) recognition of a marketing management problem
(D) design of secondary research

125. The fundamental purpose of an organization’s mission statement is to
(A) create a good human relations climate in the organization
(B) define the organization’s purpose in society
(C) define the operational structure of the organization
(D) generate good public relations for the organization

126. Venture capital is concerned with:
(A) New project having potential for higher profit
(B) New project of high technology
(C) New project having high risk
(D) All the above

127. A corporate manager who starts a new initiative for their company which entails setting up a
new distinct business unit and board of directors can be regarded as?
(A) Ecopreneur (B) Technopreneur
(C) Intrapreneur (D) Social Entrepreneur

128. What is it called when research agencies use a single questionnaire to collect primary data on
behalf of a number of their business clients at the same time?
(A) postal survey (B) financial audit
(C) environmental analysis (D) omnibus survey

129. _______ is called pre-assumption of the expected result of the research
(A) Hypothesis (B) Expenditure
(C) Research problem (D) None of the above
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130. The activity which occurs when the new venture is started is called:
(A) Motivation (B) Business skills
(C) Departure point (D) Goal orientation

131. Having less than 50 percent of equity share in an international venture is called:
(A) Joint Venture (B) Majority interest
(C) Minority interest (D) Exporting

132. In the second step of the marketing research process, research objectives should be translated
into specific _______.
(A) Financial amounts (B) Information needs
(C) Marketing goals (D) Results that justify the means

133. _______ is the systematic design, collection, analysis, and reporting of data relevant to a specific
marketing situation facing an organization.
(A) The marketing information system (B) Market Assessment
(C) Marketing research (D) Business Analytics

134. Which of the following is not something that can be invested:
(A) Energy (B) Experties
(C) Money (D) Time

135. What are the two types of research data?
(A) Qualitative and Quantitative. (B) Primary and secondary.
(C) Predictive and quantitative. (D) Qualitative and predictive.

136. From the following which ones is the quality of Entrepreneur:
(A) Initiator (B) Information Seeker
(C) Motivator (D) All of above

137. Research confirms that participation and conflict are
(A) Positively correlated (B) Counter productive
(C) Negatively correlated (D) Always present together

138. The computational process of discovering patterns in large data sets is known as:
(A) Machine learning. (B) Variance analysis.
(C) Meta data. (D) Data mining.

139. The marketing function’s main concern is with
(A) Producing goods or providing services
(B) Producing materials, supplies and equipment
(C) Building and maintaining a positive image
(D) Generating the demand for the organisation’s products or services

140. A term used to describe how business analysts and management accountants look at data from
various directions is:
(A) Dimensional analysis. (B) Ubiquitous analysis.
(C) Multi analysis. (D) Homogeneous analysis.

141. The culture of a company is conveyed through
(A) Rites (B) Myths
(C) Rituals (D) All of the above

142. The following is (are) the Intangible source(s)
(A) Information (B) Time
(C) Technology (D) All of the above
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143. Marketers often use the term _______ to cover various groupings of customers.
(A) buying power (B) demographic segment
(C) social class position (D) market

144. Which of the following is the feature of the marketing?
(A) Needs and wants (B) Creating a market offering
(C) Customer value (D) All of the above

145. One of the most common problems with using internal database information is that:
(A) Since it was probably collected for some other purpose, it may be incomplete or wrong.
(B) It is usually expensive to retrieve.
(C) Top executives are usually unwilling to relinquish data, therefore, the data has limits.
(D) The data is almost always unsecured and, therefore, suspect as to reliability.

146. Identify the elements of marketing mix:
(A) Product (B) Price
(C) Promotion (D) All of the above

147. Management by objectives emphasizes participatively setting goals that are
(A) General in nature (B) Easy to attain
(C) Easy to create and develop (D) Tangible, verifiable and measurable

148. According to the price/quality strategy matrix, when a company overprices its product in relation
to its quality it is considered to be using which type of strategy?
(A) Good-value strategy. (B) Premium strategy.
(C) Overcharging strategy. (D) Snob strategy.

149. The philosophy of management known as total quality management developed primarily out of
the word of:
(A) Henri Fayol (B) Frederick Taylor
(C) Robert McNamara (D) W. Edwards Deming

150. What is performed at the beginning during prospecting?
(A) Qualifying Prospects
(B) Searching out potential accounts
(C) Determining probable requirements
(D) Relating company products to prospect’s requirements

151. What is the first step in market development?
(A) Segmentation analysis (B) Creating a promotional strategy
(C) Market Research (D) None of the above

152. The traditional view of marketing is that the firm makes something and then _______ it.
(A) markets (B) sells
(C) distributes (D) prices

153. What business development, does not includes
(A) Growth in terms of business expansion
(B) Making Strategic business decisions
(C) Increasing profitability by building strategic partnerships
(D) None of the aboves
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154. Procurement, technology development, human resource management, and firm infrastructure
are handled in certain specialized departments and are called.
(A) materials handling (B) support activities
(C) inventory activities (D) primary activities

155. Which of the following is not included in 6M’s used for efficient and effective use of resources?
(A) Money (B) Masses
(C) Manpower (D) Market

156. Successful marketing requires having capabilities such as understanding, creating customer
value, delivering customer value, capturing customer value, and sustaining customer value.
(A) customer loyalty (B) customer perks
(C) customer retention (D) customer value

157. Most large companies consist of four organizational levels: the _______, the division level, the
business unit level, and the product level.
(A) board of director level (B) major stakeholder level
(C) management team level (D) corporate level

158. Which of the following permits senior management to grasp the marketing plan’smajor thrust?
(A) The situation analysis.
(B) The marketing strategy.
(C) The executive summary and table of contents.
(D) Financial projections.

159. Which of the following permits senior management to grasp the marketing plan’s major thrust?
(A) The situation analysis.
(B) The marketing strategy.
(C) The executive summary and table of contents.
(D) Financial projections.

160. The most frequently cited shortcomings of current marketing plans, according to marketing
executives, are lack of realism, insufficient competitive analysis, and a _______ focus.
(A) long-term (B) profit
(C) short-run (D) product

161. The demand for a product is _______ when price cut causes revenue to increase.
(A) Income elastic (B) Price elastic
(C) Cross elastic (D) None of the above

162. When the market is run by a small number of firms that together control the majority of market
share is known as
(A) Oligopoly (B) Duopoly
(C) Oligopsony (D) Perfect competition

163. What is the correct order of five distinct stages in the life cycle of a product
(A) Introduction, Growth, Saturation, Maturity, Decline
(B) Introduction, Maturity, Growth, Saturation, Decline
(C) Introduction, Growth, Maturity, Saturation, Decline
(D) Introduction, Maturity, Saturation, Growth, Decline

164. Costs that do not vary with production or sales levels are called:
(A) fixed costs. (B) variable costs.
(C) standard costs. (D) independent costs.
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165. The rate of payment is made for 100 cu m(per % cu m) in case of
(A) Earth work is excavation (B) Rock cutting
(C) Excavation in trenches for foundation (D) All of the above

166. Creating selling, which requires a sales person to recognise the potential buyer’s need ans then
to provide the prospect with the necessary information, is performed by sales position called
(A) Order taker (B) missionary salesperson
(C) Technical salesperson (D) None of the above

167. Minimum metal percentage, at which mining is profitable, is known as:
(A) Average grade. (B) Cut off grade.
(C) Mill grade. (D) Economical grade.

168. Price of the chemical grade limestone is varying in the range of _______ rupees/te in India in
recent years.
(A) 100-200 (B) 400-500
(C) 800-1000 (D) 1000-1200

169. Arrange the metals according to their increasing order of prices.
(A) Copper > Aluminium > Lead > Nickel (B) Nickel > Copper > Aluminium > Lead
(C) Nickel > Copper > Lead > Aluminium (D) Copper > Aluminium > Lead > Nickel

170. ‘Skimming Price’ is
(A) Relatively low price (B) High price
(C) Discounted price (D) Price same as that of competition

171. Main indirect taxes applicable for mining in India are
(A) Customs Duty (B) Export Duty
(C) Service Tax (D) All of the above

172. Main direct taxes applicable for mining in India are
(A) Corporate Income Tax (IT) (B) Minimum Alternative Tax (MAT)
(C) Both of above (D) None of the above

173. Mining levies applicable for mining in India are:
(A) Royalty or Dead Rent
(B) contribution to National Mineral Exploration Trust
(C) contribution to District Mineral Foundation
(D) All of above

174. As per Gujarat Minor Mineral Concession Rules, 2017, The Government shall specify in the
tender document, the minimum percentage of the value of mineral dispatched, which shall be
known as the _______
(A) premium (B) base premium
(C) auction premium (D) None of the above

175. Arrange the exploration stages for any mineral deposit in sequential order
(A) Reconnaissance Survey- Preliminary Exploration - General Exploration - Detailed

Exploration
(B) Preliminary Exploration - General Exploration - Detailed Exploration - Reconnaissance

Survey
(C) Reconnaissance Survey- General Exploration - Preliminary Exploration - Detailed

Exploration
(D) None of the above
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176. _______ is that part of a Mineral Resource for which quantity and grade or quality are estimated
on the basis of limited geological evidence and sampling achieved through a stage of preliminary
exploration.
(A) Indicated Mineral Resource (B) Inferred Mineral Resource
(C) Measured Mineral Resource (D) None of the above

177. Make a suitable match between the following Minerals and their Dead rent (Rs/Sqm)
1. Sand stone X. 3.00
2. Marble (In block) Y. 5.50
3. Dolomite Z. 10.00

(A) 1 - X,  2 - Y,  3 - Z (B) 1 - Y,  2 - Z,  3 - X
(C) 1 - Z,  2 - Y,  3 - X (D) 1 - Z,  2 - X,  3 - Y

178. Gujarat Mineral Development Corporation (GMDC) was established in the state in year
(A) 1957 (B) 1960
(C) 1963 (D) 1970

179. The following is the pricing objective
(A) Profit Maximisation
(B) Meeting Competition
(C) Maximisation and Stabilisation of market shares
(D) All of the above

180. With relation to business environment, ‘F.O.R.’ means
(A) Free on Road (B) Free on Rail
(C) Free of Road Tax (D) None of the above

181. _______ guides the development of advertisements and personal sales presentations.
(A) AIEA (B) AIBA
(C) AICA (D) AIDA

182. As Mines & Minerals (Development & Regulation) Act, 1957, The rate of royalty on lignite shall
be @ _______ ad-valorem on transfer price of lignite, as ratified by the Central Electricity
Regulatory Commission (CERC) and for lignite sold to other consumers, the royalty shall be @
_______ ad valorem on the price of lignite as reflected in the invoice, excluding taxes, levies and
other charges)
(A) 6 percent, 8 percent (B) 6 percent, 6 percent
(C) 8 percent, 8 percent (D) 4 percent, 8 percent

183. A coal mine receives two bids for purchase of a new dragline. The first bid quotes Rs. 150 crore
as a price to be paid in full on delivery. The second bid quotes Rs. 180 crore as a price payable at
the end of the third year after delivery. If the discount rate is 12%, the difference in NPV between
the first and second bids in crore of rupees is _______
(A) 21-22 (B) 31-32
(C) 41-42 (D) 51-52

184. Advertising strategies often depend on the product life cycle stage. Example in case of introductory
stage, which of the following advertising strategy used
(A) Persuasive advertising (B) Comparative advertising
(C) Informative advertising (D) Reminder advertising
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185. _______ is a promotional approach that encourages consumer demand, which then experts
pressure on wholesalers and retailers to carry a product.
(A) Pull strategy (B) Push strategy
(C) Persuasive advertising (D) Sales promotion

186. Consumer promotion aimed at the _______ and trade promotion aimed at wholesalers and
retailers.
(A) Final Consumer (B) Retailer
(C) Wholesalers (D) All of the above

187. A promotional tool in which information about a company or product is transmitted by a general
mass media, which is free, but you have little or no control of the content and delivery.
(A) Public relation (B) Trade pramotion
(C) Publicity (D) Consumer promotion

188. Advertising strategy that tries to keep a product’s name in the consumer’s mind
(A) Persuasive advertising (B) Comparative advertising
(C) Informative advertising (D) Reminder advertising

189. If two or more companies jointly distribute their products in the market either themselves or by
creating an independent unit is
(A) Vertical distribution channel system (B) Horizontal distribution channel system
(C) Both of the above (D) None of the above

190. When a company targets a particulars group of customers because their need for its product, it
can be stated the company has identifies its _______
(A) Market differentiation (B) Market mission
(C) Market segment (D) Marketing plan

191. Shortest channel of distribution is
(A) Zero level channel (B) One level channel
(C) Two level channel (D) Three level channel

192. The combination of channels a company select to place, promote, sell and deliver its products to
customers is best identifies by which one of the following?
(A) Missionary selling (B) Licensed distribution
(C) Distribution mix (D) Distribution channel

193. The first object of any advertisement is to
(A) Communicate effectively (B) Stimulate exchange
(C) Increase sales (D) Enhance customer satisfaction

194. The most effective short term sales promotion incentives results from
(A) Price-off (B) Coupons
(C) Premiums (D) Contests

195. The principal legislation that governs the mineral and mining sector in India is
(A) The Mines and Minerals Act (MMDR), 1957
(B) The Mines and Minerals Act (MMDR), 1962
(C) The Mines and Minerals Act (MMDR), 1958
(D) None of the above
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196. The total audience that an advertising medium covers is called
(A) Target population (B) Frequency
(C) Reach (D) Response

197. The first objective of any advertising is to
(A) Communicate effectively (B) Stimulate exchange
(C) Increase sales (D) Enhance customer satisfaction

198. A method of determining the advertising budget, in which a high-level executive subjectively
stipulates how much, will be spent on advertising for a certain period is
(A) Arbitrary method (B) Objective and task approach
(C) Competition-matching approach (D) None of the above

199. The most effective sales promotion scheme to use in the product information is:
(A) Demonstration (B) Push money
(C) Samples (D) Coupon

200. Advertising effectiveness during an advertising campaign is usually measured by
(A) Post-test (B) Inquiries
(C) Pre-test (D) Sales comparison

201. Principles of production planning and control lies in the statement
(A) First plan your work (B) Work as your Plan
(C) Both of them (D) None of the above

202. Main function of production planning and control
(A) Planning, Routing & Scheduling (B) Dispatching, Follow up & inspection
(C) All of above (D) None of the above

203. When the material collected to represent a rock type, or a formation or an ore body in the
quantitative sense then it is termed as:
(A) Specimen (B) Sample
(C) Both specimen and sample can be used (D) Quantitative specimen

204. The width of the ore body which can be economically mined is:
(A) Stopping width. (B) Assay width.
(C) Actual width. (D) Grady width.

205. The administrative authority notified for concession management of offshore areas is
(A) The Indian Bureau of Mines (B) Ministry of Mines
(C) National Mineral Exploration Trust (D) None of the above

206. The mining terminology, exploitation or winning is:
(A) The process of blasting.
(B) The process of extracting the ore or economic mineral from the earth.
(C) The process of ventilation.
(D) The detailed mapping of the ore body.

207. Grab sampling consists in:
(A) Picking pieces of ore at one place only.
(B) Picking pieces of ore at random to make up a sample.
(C) Picking pieces of coal only.
(D) Picking pieces of ore in a grid fashion.
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208. Which of the following analysis mostly used for inventory control
(A) Lead time analysis (B) PERT analysis
(C) CPM analysis (D) ABC analysis

209. Which one of the following is the most likely mode of slope failure for waste dump
(A) Circular (B) Wedge
(C) Plane (D) Toppling

210. In a cut-and-fill stope, the main purpose of back filling is to
(A) reduce ore dilution
(B) prevent high stress concentrations in far field domain
(C) prevent displacement due to dilation of fractured wall rock
(D) improve ore re-handling

211. Incubation period is NOT related to
(A) crossing point temperature of coal (B) panel size
(C) seam thickness (D) explosibility of coal dust

212. Given the following.
Excavating/loading machine Transportation scheme
P. Bucket Wheel Excavator 1. Mine tub
Q. Continuous Miner 2. Armoured flexible chain conveyor
R. Shearer 3. Shiftable Conveyor
S. Load Haul Dumper 4. Shuttle carthe correct match is

The correct match is:
(A) P - 3,  Q - 2,  R - 4,  S - 1 (B) P - 3,  Q - 4,  R - 2,  S - 1
(C) P - 3,  Q - 2,  R - 1,  S - 4 (D) P - 1,  Q - 4,  R - 3,  S - 2

213. Contours in a topographic map
(A) are not closed upon themselves although the earth is a continuous surface
(B) are not perpendicular to the direction of maximum slope
(C) provide an indication of presence of valley or ridge in the area
(D) are the lines joining the points of same declination at different elevations

214. Match the following:
Equipment Component
P. Scraper 1. Dribble belt
Q. Dragline 2. Dipper stick
R. Bucket wheel excavator 3. Fair lead
S. Rope shovel 4. Bowl

(A) P - 2,  Q - 4,  R - 3,  S - 1 (B) P - 4,  Q - 2,  R - 1,  S - 3
(C) P - 4,  Q - 3,  R - 1,  S - 2 (D) P - 2,  Q - 4,  R - 1,  S - 3

215. An investment of Rs. 10, 000, compounded annually, is estimated to return Rs. 20, 000 after 6
years from the date of investment. The expected rate of return on this investment in percentage
is
(A) 8.75 (B) 10.50
(C) 12.25 (D) 16.6
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216. A mining company has three mines (M1, M2 and M3) that supply coal to three power plants(P1,
P2 and P3). The three mines produce 900, 1000 and 1200 te of coal per day respectively. The
power plant requirements from these three mines are 1200, 1000 and 900 te per day
respectively.The unit cost of transporting coal from the three mines to the three power plants in
Rs. is given below

Power Plants
P1 P2 P3

M1 8 10 12
Mines M2 12 13 12

M3 14 10 11
Based on the initial basic feasible solution, using Vogel’s approximation method, the total
transportation cost in Rs. is
(A) 31200 (B) 31400
(C) 32800 (D) 40000

217. The correct sequence of operations in production planning and control is
(A) Routing-Scheduling-Dispatching-Follow up
(B) Scheduling-Routing- Dispatching-Follow up
(C) Dispatching-Routing-Scheduling- Follow up
(D) Routing-Scheduling-Follow up-Dispatching

218. In underground metal mine development work, which of the following work is not belong to
vertical development
(A) Shaft (B) Raises
(C) Ore passes (D) Cross cuts

219. In underground metal mine development work, which of the following work is not belong to
secondary development
(A) Winzes (B) Raises
(C) Man pass (D) Inclines

220. In case of mining Joint Venture business, the method of accounting to be followed is decided by:
(A) Separate act of joint venture (B) Accounting standard
(C) Co-ventures as per the convenience (D) ICAI

221. Which of the following is true for ‘Routing’?
(A) It is flow of work in the plant
(B) Route sheets include list of machine tools that are to be followed
(C) It depends upon material handling facilities
(D) All of the above

222. An event that represent the joint completion of more than one activity is known as
(A) Burst event (B) Joint event
(C) Merge event (D) None of the above

223. An activity which starts immediately after one or more of the other activities are completed is
known as
(A) Successor activity (B) Predecessor activity
(C) Dummy activity (D) None of the above
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224. Cost Slope =
(A) (crash cost - normal cost)/(normal time - crash time)
(B) (normal cost - crash cost)/(normal time - crash time)
(C) (crash cost - normal cost)/(crash time - normal time)
(D) None of the above

225. In LPP maximization case Cj - Zj <= 0, then
(A) It is basic feasible solution (B) Basic feasible solution is optimum
(C) Cannot say (D) None of the above

226. Procurement cycle time is time consumed for
(A) Receiving of raw material
(B) Inspection of various raw materials
(C) Inspection of purchased components parts
(D) All of the above

227. Constraints in an LP model represents
(A) Limitation (B) Requirements
(C) Balancing limitations and requirements (D) All of the above

228. In the optimal simplex table, Cj - Zj value indicates
(A) Unbounded solution (B) Cycling
(C) Alternative solution (D) None of the above

229. Critical path means
(A) Maximum length in terms of duration (B) Minimum length in terms of duration
(C) Similar to another simple path (D) None of the above

230. Operation research practitioners do not
(A) take responsibility for solution implementation
(B) collect essential data
(C) predict future actions/operations
(D) build more than one model

231. What factor affect the application of production planning & control to manufacturing?
(A) Type of Product (B) Type of Manufacturing
(C) Both of the above (D) None of the above

232. It is the activity that cannot be performed until the predecessor event has occurred, identify it.
(A) PERT activity (B) CPM activity
(C) Optimistic activity (D) Fast tracking activity

233. If a manager at GMDC wants to award a contract for printing the company’s promotional
literature and has obtain quotations from several printers, the manager can select a printer and
know with _______ what printing should cost
(A) Ambiguity (B) Risk
(C) Uncertainty (D) Certainty

234. What does production planning aims for?
(A) Find magnitude of various inputs factors to manufacture the desired output
(B) Coordinate labor, machines & equipments in the most effective and economic manner
(C) Utilization of under employed resources
(D) All of the above

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight

acer
Highlight



AQB - MASTER  ] 27 [ Contd.

235. In a PERT network, slack time is _______.
(A) The end point that represent the completion of a major activity
(B) The time and resources required to progress from one event to another
(C) The amount of time an individual activity can be delayed without delaying the whole project
(D) The longest or most time consuming sequence of events and activities

236. All of the following decisions fall within the scope of operations management except for _______
(A) financial analysis
(B) design of products and processes
(C) location of facilities
(D) All of the above fall within the scope of operations management

237. In a PERT network, the activities on the critical path are a, b and c The standard deviations of
the durations of these activities are 2, 2 and 1 respectively. The variance of the project duration
is
(A) 3 (B) 5
(C) 9 (D) 12

238. Budgeting, paying the bills, and collection of funds are activities associated with the
(A) Management function (B) Finance/account function
(C) Production/operation function (D) Staffing function

239. The Five elements in the management process are
(A) Plan, direct, update, lead and supervise
(B) Accounting/finance, marketing, operations and management
(C) Organize, plan, control, staff and manage
(D) Plan, lead, organize, manage and controlling

240. Activities that can be delayed without making the project longer
(A) Critical (B) Flexibility
(C) Total float (D) Network activity

241. A _______ is a set of activities which are networked in an order and aimed towards achieving
the goals of a project.
(A) Project (B) Process
(C) Project management (D) Project cycle

242. Venture capital firms are usually organized as
(A) Corporation (B) Non-profit organisation
(C) Closed- end mutual funds (D) Limited partnership

243. Which of the following is a characteristics of Venture capital firms
(A) Developing portfolio of companies (B) Allowing firm to use the funds as they see fit
(C) Having a short term investment horizon (D) Holding Debts in the firm that are funded

244. The source of venture capital funding has
(A) shifted from wealthy individuals to pension funds and corporations.
(B) shifted from pension funds and corporations to wealthy individuals.
(C) decreased since 1990.
(D) None of the above.
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245. The project life cycle consists of
(A) Understanding the scope of the project
(B) Objectives of the project
(C) Formulation and planning various activities
(D) All of the above

246. The largest industry group receiving venture capital funding is
(A) computer software. (B) medical/health.
(C) computer hardware. (D) none of the above.

247. Which of the following is a benefit of the corporate form of business?
(A) Rising large amount of capital is easier
(B) Ownership is easily transferrable
(C) Limited liability of the shareholders/stockholders
(D) All of the above

248. Which of the following enjoys the benefit of limited liability?
(A) Limited company (B) Sole-proprietorship
(C) Foundation (D) Trust

249. A large organization with separate legal status is known as?
(A) Sole proprietorship (B) Partnership
(C) Joint stock company (D) None of the above

250. The time necessary to complete a project is referred to as:
(A) Implementation Time (B) Life Cycle
(C) Operation Cycle (D) Production Cycle

251. Which of these characteristics does not apply to partnership?
(A) Unlimited liabilities (B) Unlimited life
(C) Mutual agency (D) Single taxation

252. Which of the following forms of business does not protect owners from business creditors?
(A) Partnership (B) Sole proprietorship
(C) Limited liability company (D) Both (A) and (B)

253. In which type of a business, the owner and his business are not considered same in the eyes of
law?
(A) Sole proprietorship (B) Limited companies
(C) Partnership (D) Both (A) and (C)

254. What is the most accurate method of obtaining project information that can reduce the amount
of risk?
(A) Observations on the current project
(B) Determining the risk by using brainstorming techniques
(C) The use of historical data from previous projects that were similar in nature
(D) Sensitivity analysis

255. A _______ business is one in which income is generated by the resale of produced product?
(A) Manufacturing (B) Merchandising
(C) Sole Proprietorship (D) Partnership
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256. What is the meaning of the word ‘limited’ in the name of a limited company?
(A) The number of shareholders is limited to 50
(B) The liability of the company for its own debts is limited
(C) The liability of shareholders for the company’s debts is limited
(D) There is a limit on the amount of debts that the company can contract

257. Election of the Board of Directors is done by shareholders.
(A) Through special resolution (B) In annual general meeting
(C) In special meeting (D) In statuary meeting

258. Operations Research is a very powerful tool for
(A) Research (B) Decision Making
(C) Operations (D) None of the above

259. One disadvantage to the corporate form of business organization is that
(A) corporate dividends are taxed twice, once as corporate income and once as personal income
(B) decision making is complicated by the large number of shareholders
(C) the threat of a takeover looms large most of the time
(D) bondholders have first claim to a corporation’s profits

260. The basic difference between international corporations and multinationals is that
(A) only international corporations have production facilities located overseas
(B) international corporations are larger
(C) only multinationals have production facilities located overseas
(D) multinationals export more than international corporations

261. The first aid station shall be provided at the top of every shaft; in every workshop; at every
other places; at every opencast workings where more than _______ persons are employed at any
time?
(A) 50 (B) 25
(C) 100 (D) 150

262. Mining leases for minerals other than coal, lignite and atomic minerals are granted for a period
of
(A) 20 years (B) 25 years
(C) 30 years (D) 50 years

263. Voltage shall not exceed _______ Volts for hand held portable apparatus used in the Mines as
per CEA Regulations. 2010.
(A)  230 (B) 125
(C) 250 (D) 110

264. As per Mine Rules-1955, Register of persons employed in opencast working is maintained in ?
(A) Form A (B) Form B
(C) Form C (D) Form D

265. In the initial stage of the project the probability of completing the project is _______.
(A) Zero (B) High
(C) Low (D) Any of the above

266. The maximum working hours in a day is?
(A) 6 hours (B) 8 hours
(C) 9 hours (D) 12 hours
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267. Reportable injury means any injury which involves the enforced absence of the injured person
from work for a period of _______?
(A) 24 hours (B) 36 hours
(C) 72 hours (D) 144 hours

268. Any injury which involves the permanent loss of any part or section of the body is called?
(A) Minor injury (B) Reportable injury
(C) Fatal injury (D) Serious bodily injury

269. The manager or owner of mine shall before the commencement of any mining operation the
notice shall be given to CI; Controller of Indian bureau of mines and district magistrate at least
_______ before the commencement of the mining operation?
(A) 30 days (B) 15 days
(C) 7 days (D) 3 months

270. A competent person means he is attained the age of?
(A) 18 years (B) 16 years
(C) 20 years (D) 23 years

271. No person shall act or be employed as manager unless he is at least
(A) 18 years (B) 25 years
(C) 20 years (D) 23 years

272. Which of the following price quoted does not include railway freight:
(A) C.I.F. (B) C & F
(C) F.A.S. (D) Loco Price

273. In every mine the average monthly output of which exceeds at least _______ the manager shall
be assisted in the work by under manager?
(A) 5000 te (B) 3000 te
(C) 7000 te (D) 1000 te

274. When inventory is moving through the distribution system and is in the process of being
transported from factory to warehouse or from one warehouse to another, is known as
(A) In-transit inventory (B) Warehouse inventory
(C) Both (A) and (B) (D) None of the above

275. The R.F of geological plan is?
(A) 2000:1 (B) 1200:1
(C) 2400:1 (D) 5000:1

276. Where it is not possible to show the complete boundary of leasehold on the same plan; an
additional ‘KEY PLAN’ having scale _______ shall be shown?
(A) 2400 :1 (B) 5000 :1
(C) 25000 :1 (D) 50000:1

277. The minimum wages act comes in?
(A) 1952 (B) 1948
(C) 1947 (D) 1955

278. The owner; manager or agent shall take action on the report of workmen’s inspector within a
period of _______ from the date of entry into the register?
(A) 7 days (B) 30 days
(C) 15 days (D) 10 days
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279. Regarding the ground vibrations the following statement is true.
(A) The lower the frequency – higher the ground displacement.
(B) The higher the frequency – higher the ground displacement.
(C) The frequency and ground displacements are directly proportional
(D) None of the above

280. Raw Materials and Work in Progress can be classified under
(A) Direct Material (B) Indirect Material
(C) Finished Material (D) Standard Parts

281. Which of the following is used to gain experience in an international market before making a
major commitment?
(A) Merger (B) Minority Interest
(C) Joint venture (D) Majority interest

282. Pit slope is the angle made by the imaginary line joining the –
(A) Top most crest of the bench to bottom most toe of the bench
(B) Top most toe of the bench to the bottom most toe of the bench
(C) Top most crest of the bench to bottom most crest of the bench
(D) Average of the all bench angle

283. Notice of Medical examination under 29D of Mines Rules 1955 shall be given in
(A) Form ‘M’ (B) Form ‘N’
(C) Form ‘Q’ (D) Form ‘R’

284. _______ and _______ are costs that increase or decrease with the quantity sold.
(A) Indirect labour, indirect material (B) Indirect labour, direct material
(C) Direct labour, indirect material (D) Direct labour, direct material

285. Which of the Fire Extinguisher can be used for Electrical fires?
(A) Automatic (B) water type
(C) Foam type (D) CO2 type

286. No working shall be made within road or building. _______ meters of any railway or of any
public work or of any public
(A)  60 (B) 200
(C) 45 (D) 500

287. As Mines & Minerals (Development & Regulation) Act, 1957, which of the following is/are
considered as precious metals and stones.
(A) Silver (B) Gold
(C) Ruby (D) All of the above.

288. Mines & Minerals (Development & Regulation) Act, 1957, as per SCHEDULE FIRST, which
mineral is not falling in the category of atomic minerals.
(A) Uranium (B) Thorium
(C) Beryl (D) Chrome ore

289. According to CMR, what is the minimum factor of safety for winding rope used for man winding
installation?
(A) 2 (B) 5
(C) 7 (D) 10
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290. A holder of a mineral concession in the Gujarat State shall, prior to dispatch of any mineral
outside the lease area, provide the following information to the Government:
(A) quantity of mineral dispatched
(B) name, address and registration number of the person to whom such mineral is being
dispatched, herein after referred to as the “Consignee”
(C) particulars of the Carrier carrying the minerals
(D) All of the above

291. The trader shall obtain a digitally signed permit for lawful transportation of the mineral/ore,
hereinafter referred to as the “Delivery Challan”. The Delivery Challan shall be in the format
specified in _______ and shall be printed by the trader on a special security permit papersheet).
(A) Form F (B) Form O
(C) Form K (D) None of the above

292. National Mineral Inventory is maintained by
(A) Geological Survey of India (GSI) (B) Indian Bureau of Mines
(C) Ministry of Mines (D) None of the above

293. What taxes and duties apply on the import and export of mineral resources?
(A) Basic customs duty (B) Social welfare surcharge
(C) IGST (D) All of the above

294. As per Gujarat Mineral (Prevention of Illegal Mining, Transportation and Storage) Rules, 2017,
Whenever any person undertakes illegal mining or illegal storage, he shall be liable to make
compounding payment and the collectible amounts shall be calculated in accordance with the
below mentioned formula, and such amount shall be rounded off / calculated up to the next
highest multiple of ten, (where royalty index = Royalty value/ Royalty rate)
(A) Mineral Value(mt) - (Royalty Index / Royalty) + Royalty Rate
(B) Mineral Value(mt) - (Royalty Index × Royalty) + Royalty Rate
(C) Mineral Value(mt) - (Royalty Index - Royalty) + Royalty Rate
(D) None of the above

295. Under the FDI Policy, up to 100% foreign direct investment under the automatic route is permitted
for:
(A) Mining and exploration of metals and non-metal ores
(B) Coal and lignite mining for captive consumption by power projects, iron and steel and cement

units and other eligible activities.
(C) Coal processing plants where the company does not engage in coal mining or selling washed

or sized coal from the coal processing plant in the open market.
(D) All of the above

296. As per EIA under Environment Protection (Amendment) Act 2006 notification EIA is required
for projects listed in
(A) Category A (B) Category B
(C) Category A and B (D) Category A and B1

297. As per Gujarat Mineral (Prevention of Illegal Mining, Transportation and Storage) Rules, 2017,
every registered end- user, every holder of a mineral concession and every Trader shall file
online monthly returns in _______.
(A) Form G (B) Form H
(C) Form K (D) None of the above
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298. As per Gujarat Mineral (Prevention of Illegal Mining, Transportation and Storage) Rules, 2017,
every registered end- user, every holder of a mineral concession and every Trader shall file
online annual returns in _______.
(A) Form G (B) Form H
(C) Form K (D) None of the above

299. Some of the mandatory clearances/ approvals, inter alia, required for commencement of
exploration or mining operations include
(A) Environment and Forest Clearance
(B) Wildlife Clearance (sanctuary / reserve / special zone clearances)
(C) Transmission line from State Transmission / Distribution Companies
(D) All of the above

300. Gujarat Mineral (Prevention of Illegal Mining, Transportation and Storage) Rules, 2017 says,
in case where the amount of violation of rules or breach of condition is equal or more than five
lakhs from lessee/stockist. In this case how much fine lessee/stockist should pay minimum in
advance.
(A) 10% of the fine (B) 20% of the fine
(C) 30% of the fine (D) None of the above
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